=3 Practice
1 2-2 For use with pages 802-809

Find the surface area of the solid formed by the net. Round your answer to

- two decimal places.

§=2(9) + H(3¥)
\u2cm"l

2(65) z(__r_zzn) =6

: Hwﬁ e Qe211Y

24infns0 4 MHO |6 ft
’ . 55in. 60in. \. @
24(5S) 24 4o) Wwo ‘
e~ ACO)=mrd  A(c2l)=4w
[Sehusin®/  (9? W (2T (5))
it 26T 4+ oM
50T\ = 1 :L
S=28+P : +e=85T#+=
Find the surface area of the right prism. Rouad your answer to two G.P

decimal places.

T BiolH) =i
v =2(m)+2(4)=2.€b

S=2(40) + 28(4) P= smw
| S=248m*

| A(Priagon) « SL

5'@ 2’3 s=2(0022.4(2) [ p= AE® ‘;‘5) Vs 5(6) |

SO S=egB@r! | =39
h=i2 . =t S =z(3q)+';sg&)
F'mdthasurfacearea ofthenghtcyf'mderusmgﬁreswegﬁard{lisi?gh ' IS:‘-ZZQ (,mz.]

Lw.vc. " iums (]

. r=3cmh=
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¢e2m(8)2+2m(5)015)
=507 + 180T

| $= 200 em*|

8. r=11fh (> r=12in;h=18in.

$= 21+ 2T(LD0B.2) T ge ?:r'\(l1 f2T(2)18)

| =2.42T + 7.e4T =2i_fT( t 4327
[S=9.46T 6> 162120 in>
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* Solve for x given the surface area S of the rlght prism or right cylinder.
. Round your answer to two deqlmal places. 5 21‘-(1 + 2TF h

10. §=320m? 12.) 5= 1000 cm?
1 l 2%
Wy E =8 m :.:
Begtl) | |
% |
P=2tep2(6) W= na 1000=2TILE* + Zl(i)x
= iy 5 . 268 1000 2 128T1 + |v
28 apiilieyiiex s 'W'm“ 2X 50188 = 11X |
) (e
_‘ X=8m P=1.20 tMil” 2 € %
i P=in.2| | Xt S

i 13. Surface Area of a Prism Arectaugularpnsmha&abasemth a width of x units
s and a height of y units. The depth of the prism is z units. Wntethe surface area S in

} . terms of x, , and z. 5=28+Ph “m& A
Lt - - . =i o
e, oo

P 2x+2-5 or S= X4 ¢ 2xp +2Y2

et hed -

4. SurfaceArea of a Prism Atnangularpnsm with a right triangular base has one
leg length that is 6 inches and the other leg length that is 8 inches. The height of the
pnsmzs?mchc&Whatmthesurfaceareaofthepnsm‘? $=28 +bh

um P=Ltgtlo Sz2(24) 424 (1)

=2 =24 . S= 48 +1
8 * h=1 !g- 2|Lin? Z
@ Surface Area of a Prism A triangular prism with a trian;

lengths of 5 mches, 5 inches, and 6 inches. The height of the prism is 10 inches.
- What is the surface area of the prism? 6 \)('j) h-’ 10 P 5'f6-‘rw

-

. 52-324ht . 2 =Tz
L sflno 25=94h? =12 a
i G S S$=202) +1e(10) | 1g4nt
:j 2 v 16. Multiple Choice The radius and height of a right cylinder are each multiplied by 2.
‘What is the change in the surface area of the cylinder? - Radho o S‘ldéS Ra_.hooc.

Cd p&gh’r © by McDougal Littell, a division of Houghton Mifflin Company.

A. The surface area is 2 times the original surface area. i
The surface area is 4 times the original surface area. - : \ "

-

C. The surface area is 6 times the original surface area. J\ 13 !

- \
s\t'; Lﬁ% .

D. The surface area 1s 8 times the oﬁginal_ surface area.

o
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(\. 12.2 !Futsavia'tfrpqgessaz—m

Surface Area of a Cylinder The radius and height of a right cylinder are each
divided by 2. What is the change in surface area of the cylinder? '

| | ¥ st 7
1 <) <« 4 E | -,!F;-l-k& Slanaf +Hu oﬁarim.ﬂ_
; ' l .

l - v

j 18. Radiuns of a Cylinder Find the radius of a right cylinder with a snrface area of
: 487 square feet. The height of the cylinder is 5 feet. §=2qph + 2711 R

=~sm WQT=2r(5)t 2t o p=rrtsr-24

H¢T =10y 4 2Tr2 - Y

| reg)r-3)=o

0= 2Trérionr -46T ( )r--i? 5 J\K‘f"?‘
-

19. Candy Box Asabirthdaypm%ellforaﬁiend,youbuy ‘ C

a cylindrical box of candy. The diameter of the box is = | T3] e

6 inches and the height is 8 inches. What is the minimum %ﬁg

amount of wrapping paper needed to wrap the gift?’ '
Teanol?

Round your answer to two decimal places.

&

N
-

{

In Exercises 20-22, use the following information.

Water Drainage Pipe The figure at the right shows a drainage
pipe that is needed for the construction of a new driveway.

The pipe has a length of 15 feet and a diameter that is one tenth
that of the length. Round your answers to two decimal places.

20. If the design is to have at least one foot of pavement over the draimage pipe, what is
the minimum depth of the ditch?

21. What is the surface area of the dram=aee pipe?

Copyright © by Mchu\gaI Littell, a division of Houghton Mifflin Company.

22. What is the surface area of the drainage pipe, if the diameter of the pipe is one sixth
of the length of the pipe? '
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